CCNA1 Module 5 exam picture descriptions

Refer to the exhibit. How many collision

Exhibit has 2 hubs and one switch. Hub 1 is connected to the switch as is hub 2. Each hub has 3 workstations attached.

Refer to the exhibit. A technician measured the lengths of the CAT 5e

Exhibit illustrates 3 workstations ( a, b and c) connected to a patch panel. The length of each cable is marked as follows:

Workstation a 90 meters

Workstation b 120 meters

Workstation c 8 meters

Refer to the exhibit. What is the appropriate cable

Exhibit illustrates a small network consisting of. 3 workstations, a router and a switch. Each link between devices is numbered (1-4) 

Link 1 A workstation (RS232) is connected to the router via a serial port

Link 2 A workstation (NIC) is connected to the router via Fa0

Link 3 The router is connected to the switch (no type given)

Link 4 A workstation (NIC) is connected to the switch.

Unfortunately there is 2 questions identical to the following, there is no way to differentiate them without sighted assistance

The ends of a UTP cable are shown in the exhibit.

Exhibit shows the wires in both ends of a utp cable by colour. From left to right they are 

Orange/white

Orange

Green/white

Blue

Blue/white

Green

Brown/White

Brown

The other end is wired in the same order.

 The second question shows wires in the following colour order

Green/white

Green

Orange/white

Blue

Blue/white

Orange

Brown white

Brown

The other end is wired in the following order

Orange/white

Orange

Green/white

Blue

Blue/white

Green

Brown/White

Brown

Which items in the exhibit are DTE

Exhibit shows a small network of 2 routers, 2 CSU/DSU and a cloud. Router A is connected to CSU/DSU B which is in turn connected to the network cloud. At the other end of the cloud we connect to CSU/DSU C which in turn connects to Router D

Exhibit shows a small network of 2 routers, 2 CSU/DSU and a cloud. A router is connected to CSU/DSU  which is in turn connected to the network cloud. At the other end of the cloud we connect to CSU/DSU  which in turn connects to the last Router

Which function is a unique responsibility of the DCE devices

End of diagrams

